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çÜVýSr$
çÜVýSr$ ]̄l$ çÜÆ>çÜÇ Ìôæ§é A…MýSVýS×ìæ™èl çÜVýSr$ Ìôæ§é A…MýSÐ]l$«§ýlÅÐ]l$… Ìôæ§é Ð]l$«§ýlÅÐ]l$… A° MýS*yé í³Ë$Ýë¢Æý‡$. JMýS
çÜÐ]lÊçßæ…ÌZ° A°² Æ>Ô¶æ$ËMýS$ {´ë†°«§ýlÅ… Ð]líßæ… ó̂l Æ>Õ° B çÜÐ]lÊçßæ… çÜVýSr$ Ìôæ§é çÜÆ>çÜÇ A…sêÆý‡$.

Æ>Ô¶æ$Ë Ððl¬™èl¢…çÜVýSr$ = _______
Æ>Ô¶æ$Ë çÜ…QÅ

Æ>Ô¶æ$Ë Ððl¬™èl¢… = çÜVýSr$ × Æ>Ô¶æ$Ë çÜ…QÅ
VýSÐ]l$°MýS:
Æ>Ô¶æ$Ë çÜVýSr$ ]̄l$ MýS ]̄l$MøPÐéË…sôæ B Æ>Ô¶æ$Ë±² JMóS {ç³Ð]l*×æ…ÌZ E…yéÍ.

E§éçßæÆý‡×æË$
1. MìS…¨ Æ>Ô¶æ$Ë çÜVýSr$ G…™èl?

2 VýS…rË$, 4 VýS…rË$, 6 VýS…rË$, 90 °Ñ$ÚëË$, 3600 òÜMýS ]̄l$Ï.
Ýë«§ýl¯]l:

C_a ]̄l Æ>Ô¶æ$Ë°²…sìæ± VýS…rÌZÏMìS Ð]l*Ça Æ>õÜ¢....
2 VýS…rË$, 4 VýS…rË$, 6 VýS…rË$, 1.5 VýS…rË$, 1 VýS…r

çÜVýSr$ = VýS…rË$

VýS…rË$

= 2.9 × 60 °Ñ$ÚëË$
= 174 °Ñ$ÚëË$
= 2 VýS…rË 54 °Ñ$ÚëË$
∴ çÜVýSr$ = 2 VýS…rË 54 °Ñ$ÚëË$

2. Ë çÜVýSr$ G…™èl?

Ýë«§ýl¯]l: 

çÜVýSr$ = 
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∴ çÜVýSr$ = 

Ð]l¬QÅOÐðl$¯]l çÜ*{™éË$:

1. Ððl¬§ýlsìæ n çÜçßæf çÜ…QÅË çÜVýSr$ =

2. Ððl¬§ýlsìæ n çÜçßæf çÜ…QÅË Ð]lÆ>YË çÜVýSr$ = 

3. Ððl¬§ýlsìæ n çÜçßæf çÜ…QÅË çœ$¯éË çÜVýSr$ = 

4. Ððl¬§ýlsìæ n »ôæíÜ çÜ…QÅË çÜVýSr$ = n
5. Ððl¬§ýlsìæ n çÜÇçÜ…QÅË çÜVýSr$ = n + 1

6. MìS…¨ Ððl¬§ýlsìæ 25 {ç³«§é ]̄l çÜ…QÅË ]̄l$ VýS$Æý‡$¢… è̂l$MøÐéÍ.
2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97.
(CÐ]l±² 100 ÌZç³# {ç³«§é ]̄l çÜ…QÅË$)

3. Ððl¬§ýlsìæ 999 çÜçßæf çÜ…QÅË çÜVýSr$ G…™èl?
Ýë«§ýl¯]l: 

çÜVýSr$ = = 500

∴ Ððl¬§ýlsìæ 999 çÜçßæf çÜ…QÅË çÜVýSr$ = 500

4. Ððl¬§ýlsìæ 30 çÜçßæf çÜ…QÅË Ð]lÆ>YË çÜVýSr$ G…™èl?
Ýë«§ýl¯]l: 

çÜVýSr$ = 

∴ çÜVýSr$ =
1891
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5. Ððl¬§ýlsìæ 100 çÜÇ çÜ…QÅË çÜVýSr$, Ððl¬§ýlsìæ 100 »ôæíÜ çÜ…QÅË çÜVýSr$Ë Ð]l$«§ýlÅ ¿ôæ§ýl…?
Ýë«§ýl¯]l: 

Ððl¬§ýlsìæ 100 çÜÇ çÜ…QÅË çÜVýSr$ = 100+1 = 101
Ððl¬§ýlsìæ 100 »ôæíÜ çÜ…QÅË çÜVýSr$ = 100
Oò³ Æð‡…yìl…sìæ ¿ôæ§ýl… = 101 – 100 = 1
∴ çÜÐ]l*«§é¯]l… = 1

6. Hyýl$ Ð]lÆý‡$çÜ çÜçßæf çÜ…QÅË çÜVýSr$ 150. AÆ‡¬™ól A…§ýl$ÌZ MýS°çÙt, VýSÇçÙt çÜ…QÅË¯]l$ MýS¯]l$MøP…yìl.
Ýë«§ýl¯]l: 

Hyýl$ Ð]lÆý‡$çÜ çÜçßæf çÜ…QÅË ]̄l$ MìS…¨ Ñ«§ýl…V> A ]̄l$Mö…sôæ...
x – 3, x – 2, x – 1, x,  x + 1, x + 2, x +3

çÜVýSr$ = = x

M>° §ýl™é¢…Ô¶æ… {ç³M>Æý‡… Ðésìæ çÜVýSr$ = 150
∴ x = 150

MýS°çÙt çÜ…QÅ = x – 3 = 150 – 3 = 147

VýSÇçÙt çÜ…QÅ = x + 3 = 150 + 3 = 153

7. BÆý‡$ Ð]lÆý‡$çÜ »ôæíÜ çÜ…QÅË çÜVýSr$ 64 AÆ‡¬™ól B çÜ…QÅË¯]l$ MýS¯]l$MøP…yìl.
Ýë«§ýl¯]l: 

BÆý‡$ Ð]lÆý‡$çÜ »ôæíÜ çÜ…QÅË ]̄l$ MìS…¨ Ñ«§ýl…V> A ]̄l$Mö…sôæ...
2x–5, 2x–3, 2x–1, 2x+1, 2x+3, 2x+5

çÜVýSr$ = 

M>° §ýl™é¢…Ô¶æ… {ç³M>Æý‡… Ðésìæ çÜVýSr$ = 64
∴ 2x = 64

∴ B çÜ…QÅË$ 64 – 5, 64 – 3, 64 –1, 64 + 1, 64 + 3, 64 + 5 A…sôæ...
59, 61, 63, 65, 67, 69

8. Ððl¬§ýlsìæ ç³¨ {ç³«§é¯]l çÜ…QÅË çÜVýSr$ G…™èl?
Ýë«§ýl¯]l:

Ððl¬§ýlsìæ ç³¨ {ç³«§é ]̄l çÜ…QÅË$ 2, 3, 5, 7, 11, 13, 17, 19, 23, 29

çÜVýSr$ = = 12.9

∴ çÜÐ]l*«§é¯]l… = 12.9
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9. A…MðSË Ýë¦¯éË¯]l$ ç³Æý‡çÜμÆý‡… Ð]l*Ça¯]lç³μsìæMîS ÑË$Ð]l Ð]l*Æý‡° Æð‡…yýl…MðSË çÜ…QÅË çÜVýSr$ G…™èl?
Ýë«§ýl¯]l: 

çÜVýSr$ =

= 

= = = 55

∴ çÜVýSr$ = 55

10. 25 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë$ E¯]l² JMýS ™èlÆý‡VýS† çÜVýSr$ Ð]lÄ¶æ$çÜ$ 15 Hâ¶æ$Ï. C…§ýl$ÌZMìS sîæ^èlÆý‡$ Ð]lÄ¶æ$çÜ$¯]l$ MýS*yé ç³ÇVýS×æ¯]lÌZMìS
¡çÜ$MýS$…sôæ Ððl¬™èl¢… çÜVýSr$ Ð]lÄ¶æ$çÜ$  Hyé¨ ò³Æý‡$VýS$™èl$…¨. AÆ‡¬™ól sîæ^èlÆý‡$ Ð]lÄ¶æ$çÜ$ G…™èl?

Ýë«§ýl¯]l: 
Æ>Ô¶æ$Ë Ððl¬™èl¢… = Æ>Ô¶æ$Ë çÜ…QÅ × çÜVýSr$
A ó̄l çÜ*{™é°² A ]̄l$çÜÇ…_..
25 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢… = 25 × 15 = 375 Hâ¶æ$Ï.
sîæ è̂lÆý‡$ ]̄l$ MýS*yé ç³ÇVýS×æ ]̄lÌZMìS ¡çÜ$MýS$…sôæ (Ððl¬™èl¢… 26 Ð]l$…¨) Ð]l ó̂la çÜVýSr$ = 15+1 = 16 Hâ¶æ$Ï.
26 Ð]l$…¨ Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢… =  26 ×16 = 416 Hâ¶æ$Ï.
sîæ è̂lÆý‡$ Ð]lÄ¶æ$çÜ$ = 416 – 375 = 41 Hâ¶æ$Ï.
∴ çÜÐ]l*«§é ]̄l… = 41 Hâ¶æ$Ï.

11. JMýS »êÅsŒæÞÐ]l$¯Œl ™èl¯]l  13Ð]l C°²…VŠSÞÌZ 73 ç³Æý‡$VýS$Ë$ ^ólõÜ¢ A™èl° çÜVýSr$ Æð‡…yýl$ ç³Æý‡$VýS$Ë$ ò³ÇW…¨. AÆ‡¬™ól 13Ð]l
C°²…VŠSÞMýS$ Ð]l¬…§ýl$ B »êÅsŒæÞÐðl$¯Œl çÜVýSr$ G…™èl?

Ýë«§ýl¯]l: 
12Ð]l C°²…VŠSÞ Ð]lÆý‡MýS$ »êÅsŒæÞÐðl$ Œ̄l çÜVýSr$ = x A¯]l$MýS$…sôæ
Aç³šyýl$ 12Ð]l C°²…VŠSÞ Ð]lÆý‡MýS$ A™èlyýl$ ó̂líÜ ]̄l Ððl¬™èl¢… ç³Æý‡$VýS$Ë$ = 12 x
§ýl™é¢…Ô¶æ… {ç³M>Æý‡…
12x + 73 = 13(x+2)
⇒ 73 – 26 = 13x – 12x

⇒ x = 47

∴ 13Ð]l C°²…VŠSÞMýS$ Ð]l¬…§ýl$ »êÅsŒæÞÐðl$ Œ̄l çÜVýSr$ = 47

12. ™èlÆý‡VýS†ÌZ° 50 Ð]l$…¨ Ñ§éÅÆý‡$¦ÌZÏ 30 Ð]l$…¨ »êË$Æý‡$, 20 Ð]l$…¨ »êÍMýSË$ E¯é²Æý‡$. JMýS ç³È„ýSÌZ »êË$Æý‡ çÜVýSr$
Ð]l*Æý‡$PË$ 40, »êÍMýSË çÜVýSr$ Ð]l*Æý‡$PË$ 45. AÆ‡¬™ól JMýS »êË$yìl Ð]l*Æý‡$PË$ 60MìS º§ýl$Ë$ 30, JMýS »êÍMýS Ð]l*Æý‡$PË$
50MìS º§ýl$Ë$ 70V> ™èlç³šV> ¡çÜ$MýS$¯é²Æý‡$. »êË$Æý‡, »êÍMýSË çÜOÆð‡¯]l çÜVýSr$Ë¯]l$, ™èlÆý‡VýS† çÜVýSr$Ë¯]l$ MýS¯]l$MøP…yìl?

Ýë«§ýl¯]l: 

495

9

110 110 110 110 55

9
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"30' Ð]l$…¨ »êË$Æý‡ çÜOÆð‡ ]̄l Ð]l*Æý‡$PË$ Ððl¬™èl¢… = 30×40 – 30+60 = 1200& 30+60
= 1230 → (1)

∴ »êË$Æý‡ çÜOÆð‡ ]̄l çÜVýSr$ = = 41 Ð]l*Æý‡$PË$

AÌêVóS 20 Ð]l$…¨ »êÍMýSË çÜOÆð‡ ]̄l Ð]l*Æý‡$PË Ððl¬™èl¢… = 20×45 – 70+50 = 900 – 70+50
= 880 → (2)

∴ »êÍMýSË çÜOÆð‡ ]̄l çÜVýSr$ = = 44 Ð]l*Æý‡$PË$

(1), (2)Ë ]̄l$…_ ™èlÆý‡VýS†ÌZ° 50 Ð]l$…¨ çÜOÆð‡ ]̄l Ð]l*Æý‡$PË$ Ððl¬™èl¢… = 1230 + 880 = 2110

∴ ™èlÆý‡VýS† çÜVýSr$ = = 42.2 Ð]l*Æý‡$PË$

13. JMýS §ýl™é¢…Ô¶æ… çÜVýSr$ 50. B §ýl™é¢…Ô¶æ…ÌZ {ç³† Æ>Õ° 5™ø ¿êW…_, B ™èlÆ>Ó™èl 3 ¡íÜÐólõÜ¢ HÆý‡μyól Mö™èl¢ §ýl™é¢…Ô¶æ… çÜVýSr$
G…™èl?

Ýë«§ýl¯]l: 
JMýS §ýl™é¢…Ô¶æ…ÌZ° {ç³† JMýSP Æ>ÕOò³ {ç³Äñæ*W…_ ]̄l {´ë£ýlÑ$MýS VýS×ìæ™èl {ç³{MìSÄ¶æ$Ë ]̄l$ (+, –, ×, ÷) A§ól {MýSÐ]l$…ÌZ
çÜVýSr$ Ò$§ýl {ç³Äñæ*WõÜ¢ Mö™èl¢ §ýl™é¢…Ô¶æ… çÜVýSr$ Ð]lçÜ$¢…¨. Oò³ çÜ*{™é°² A ]̄l$çÜÇ…_ C_a ]̄l §ýl™é¢…Ô¶æ çÜVýSr$ 50°
5™ø ¿êW…_, 3 ]̄l$ ¡íÜÐólõÜ¢,

= 10 – 3 = 7 Ð]lçÜ$¢…¨.

∴ Mö™èl¢V> HÆý‡μyìl ]̄l §ýl™é¢…Ô¶æ çÜVýSr$ = 7

14. 3 Hâ¶æÏ {MìS™èl… 5 Ð]l$…¨ çÜ¿¶æ$ÅË$ E¯]l² JMýS MýS$r$…º… çÜVýSr$ Ð]lÄ¶æ$çÜ$ 17 Hâ¶æ$Ï. ™èlÆ>Ó™èl B MýS$r$…º…ÌZ JMýS ¼yýlz
f°Ã…_…¨. {ç³çÜ$¢™èl… MýS*yé B MýS$r$…º… çÜVýSr$ Ð]lÄ¶æ$çÜ$ 17 HâôæÏ. AÆ‡¬™ól B ¼yýlz {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$¯]l$ MýS¯]l$MøP…yìl?

Ýë«§ýl¯]l: 
5 Ð]l$…¨ çÜVýSr$ Ð]lÄ¶æ$çÜ$ 3 Hâ¶æÏ {MìS™èl… 17 Hâ¶æ$Ï. M>ºsìæt {ç³çÜ$¢™èl…  5 Ð]l$…¨ çÜVýSr$ Ð]lÄ¶æ$çÜ$ = 17 + 3 = 20 Hâ¶æ$Ï.
{ç³çÜ$¢™èl… 5 Ð]l$…¨ Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢… = 20 × 5 = 100 Hâ¶æ$Ï.
Mö™èl¢V> f°Ã…_ ]̄l ¼yýlz {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$ x A¯]l$MýS$…sôæ
§ýl™é¢…Ô¶æ… {ç³M>Æý‡… {ç³çÜ$¢™èl… 6 Ð]l$…¨ MýS$r$…ºçÜ¿¶æ$ÅË çÜVýSr$ Ð]lÄ¶æ$çÜ$ MýS*yé 17 HâôæÏ. A…sôæ

⇒ 100 + x

= 17 × 6 = 102

⇒ x = 2

A…sôæ B ¼yýlz {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$ = 2 Hâ¶æ$Ï.

100
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6
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50
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15. JMýS ™èlÆý‡VýS†ÌZ° Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]lÄ¶æ$çÜ$ 15.8 Hâ¶æ$Ï. B ™èlÆý‡VýS†ÌZ° »êË$Æý‡ çÜVýSr$ Ð]lÄ¶æ$çÜ$ 16.4 Hâ¶æ$Ï, »êÍMýSË
çÜVýSr$ Ð]lÄ¶æ$çÜ$ 15.4 Hâ¶æ$Ï. AÆ‡¬™ól ™èlÆý‡VýS†ÌZ E¯]l² »êË$Æý‡, »êÍMýSË °çÙμ†¢° MýS¯]l$Vö¯]l…yìl?

Ýë«§ýl¯]l: 
™èlÆý‡VýS†ÌZ° »êË$Æý‡ çÜ…QÅ = a,

»êÍMýSË çÜ…QÅ = b A¯]l$MýS$…sôæ
Aç³šyýl$ Ððl¬™èl¢… Ñ§éÅÆý‡$¦Ë$ = a + b

»êË$Æý‡ Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢… + »êÍMýSË Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢…
= ™èlÆý‡VýS†ÌZ° A…§ýlÇ Ð]lÄ¶æ$çÜ$Ë Ððl¬™èl¢…
∴ 16.4 a + 15.4 b = 15.8 (a + b)

⇒ 16.4 a – 15.8 a = 15.8 b – 15.4 b

⇒ 0.6 a = 0.4 b

⇒

A…sôæ ™èlÆý‡VýS†ÌZ° »êË$Æý‡ çÜ…QÅMýS$, »êÍMýSË çÜ…QÅMýS$ VýSË °çÙμ†¢ = Ìôæ§é 2 : 3

∴ çÜÐ]l*«§é ]̄l… = 2 : 3

ÑÀ¯]l² {VýS*ç³#Ë çÜVýSr$
JMýS {VýS*ç³#ÌZ° Æ>Ô¶æ$Ë çÜ…QÅ P, çÜVýSr$ x, Ð]l$ÆöMýS {VýS*ç³#ÌZ° Æ>Ô¶æ$Ë çÜ…QÅ q, çÜVýSr$ y AÆ‡¬™ól B Æð‡…yýl$ {VýS*ç³#Ë¯]l$

MýSÍí³™ól HÆý‡μyól Ñ${Ô¶æÐ]l$ {VýS*ç³# çÜVýSr$ =

JMýSÐólâ¶æ Ð]lÊyýl$ {VýS*ç³#Ë$ E ]̄l²rÏÆ‡¬™ól (Ð]lÊyø {VýS*ç³#ÌZ° Æ>Ô¶æ$Ë çÜ…QÅ r, çÜVýSr$ z AÆ‡¬™ól), Ñ${Ô¶æÐ]l$ {VýS*ç³#

çÜVýSr$ =

E§éçßæÆý‡×æË$
1. 1000 Ð]l$…¨ E§øÅVýS$Ë$ E¯]l² JMýS MýS…ò³±ÌZ E§øÅW çÜVýSr$ i™èl… Æý‡*.10,000. ç³#Æý‡$çÙ E§øÅVýS$Ë çÜVýSr$ i™èl…

Æý‡*. 10,400, Ð]l$íßæâê E§øÅVýS$Ë çÜVýSr$ i™èl… Æý‡*. 8,400. AÆ‡¬™ól MýS…ò³±ÌZ° Ð]l$íßæâê E§øÅVýS$Ë Ô>™èlÐðl$…™èl?
Ýë«§ýl¯]l: 

ç³#Æý‡$çÙ E§øÅVýS$Ë çÜ…QÅ = x A ]̄l$MýS$…sôæ, Ð]l$íßæâê E§øÅVýS$Ë çÜ…QÅ = 1000–x AÐ]l#™èl$…¨. Aç³šyýl$ Ñ${Ô¶æÐ]l$
{VýS*ç³# çÜVýSr$ çÜ*{™é°² A ]̄l$çÜÇ…_

⇒ 84,00,000 + 2,000 x = 1,00,00,000

( )10,400 8,400 1000
10,000

1000

x x

x x

+ −
=

+ −

Px qy rz

P q r

+ +
+ +

Px qy

P q

+
+

2

3

0.4 2

0.6 3
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⇒ 2,000 x = 16,00,000

⇒ x = 800

∴ Ð]l$íßæâê E§øÅVýS$Ë çÜ…QÅ = 1000–x = 1000 – 800 = 200

Ð]l$íßæâê E§øÅVýS$Ë Ô>™èl…=

∴ MýS…ò³±ÌZ 20% Ð]l$íßæâê E§øÅVýS$Ë$ E¯é²Æý‡$.

2. JMýS ™èlÆý‡VýS†ÌZ° Ððl¬™èl¢… 100 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$ 56. Ððl¬§ýlsìæ 20 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$
85. _Ð]lÇ 40 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$ 20. AÆ‡¬™ól Ñ$WÍ¯]l Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$ G…™èl?

Ýë«§ýl¯]l: 
Ððl¬§ýlsìæ 20, _Ð]lÇ 40 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë ]̄l$ Ñ$ ]̄làÆ‡¬õÜ¢, Ñ$WÍ ]̄l Ñ§éÅÆý‡$¦Ë$ = 100 – 20 – 40 = 40

D 40 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$ = x A ]̄l$MýS$…sôæ, Aç³šyýl$ Ñ${Ô¶æÐ]l$ {VýS*ç³# çÜVýSr$ çÜ*{™é°²
A¯]l$çÜÇ…_

⇒ 1700 + 800 + 40x = 5,600
⇒ 40x = 3,100

∴ Ñ$WÍ ]̄l Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]l*Æý‡$PË$ = 77.5

A¿êÅçÜ…
1. 5 çÜ…QÅË çÜÆ>çÜÇ 75. A…§ýl$ÌZ Ððl¬§ýlsìæ 4 çÜ…QÅË çÜVýSr$ 72. I™óllA…§ýl$ÌZ _Ð]lÇ çÜ…QÅ?

G) 85 ¼) 87 íÜ) 90 yìl) 91

2. 6 Æ>çÔ¶æ$Ë çÜVýSr$  85, A…§ýl$ÌZ _Ð]lÇ 5 Æ>Ô¶æ$Ë çÜVýSr$ 89. I™ól Ððl¬§ýlsìæ Æ>Õ ÑË$Ð]l?
G) 65 ¼) 75 íÜ) 85 yìl) 95

3. 9 Æ>çÔ¶æ$Ë çÜVýSr$ 15. A…§ýl$ÌZ Ððl¬§ýlsìæ 4 Æ>Ô¶æ$Ë çÜVýSr$ 17. _Ð]lÇ 4 Æ>çÔ¶æ$Ë çÜVýSr$ 13. I™ól A…§ýl$ÌZ Ð]l$«§ýlÅ Æ>Õ
ÑË$Ð]l?
G) 14 ¼) 15 íÜ) 16 yìl) 17

4. 7 Æ>Ô¶æ$Ë çÜVýSr$ 90. A…§ýl$ÌZ Ððl¬§ýlsìæ 4 Æ>Ô¶æ$Ë çÜVýSr$ 91. _Ð]lÇ ¯éË$VýS$ Æ>Ô¶æ$Ë çÜVýSr$ 91. I™ól Ð]l$«§ýlÅ Æ>Õ ÑË$Ð]l?
G) 91 ¼) 92 íÜ) 98 yìl) 99

3,100
77.5

40
⇒ = =x

20 85 40 20 40
56

20 40 40

x× + × + =
+ +

200
100 20

1000
× =
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5. 4 çÜ…QÅÌZÏ Ððl¬§ýlsìæ 3 çÜ…QÅË çÜVýSr$ 15. _Ð]lÇ 3 çÜ…QÅË çÜVýSr$ 16. _Ð]lÇ çÜ…QÅ 19. I™ól Ððl¬§ýlsìæ çÜ…QÅ G…™èl?
G) 15 ¼)16 íÜ) 17 yìl) 18

6. ÝùÐ]l$, Ð]l$…VýSâ¶æ, º$«§ýlÐéÆ>Ë çÜVýSr$ EÚù~{VýS™èl 35°C. Ð]l$…VýSâ¶æ, º$«§ýl, VýS$Æý‡$ÐéÆ>Ë çÜVýSr$ EÚù~{VýS™èl 40°C. ÝùÐ]l$ÐéÆý‡…
¯ésìæ EÚù~{VýS™èl 30°C I™ól VýS$Æý‡$ÐéÆý‡… ¯ésìæ EÚù~{VýS™èl G…™èl?
G) 30°C ¼) 35°C íÜ) 45°C yìl) 50°C

7. ÝùÐ]l$ÐéÆý‡… ¯]l$…_ VýS$Æý‡$ÐéÆý‡… Ð]lÆý‡MýS$ çÜVýSr$ EÚù~{VýS™èl 42°C. Ð]l$…VýSâ¶æÐéÆý‡… ¯]l$…_ Ô¶æ${MýSÐéÆý‡… Ð]lÆý‡MýS$ çÜVýSr$ EÚù~{VýS™èl
40°C. Ô¶æ${MýSÐéÆý‡… ¯ésìæ EÚù~{VýS™èl ÝùÐ]l$ÐéÆý‡… ¯ésìæ EÚù~{VýS™èlÌZ 4/5 Ð]l…™èl$ E…¨. I™ól ÝùÐ]l$ÐéÆý‡… ¯ésìæ EÚù~{VýS™èl?
G) 40°C ¼) 42°C íÜ) 43°C yìl) 44°C

8. ÝùÐ]l$ÐéÆý‡… ¯]l$…_ Ô¶æ${MýSÐéÆý‡… Ð]lÆý‡MýS$ E¯]l² çÜVýSr$ EÚù~{VýS™èl 32°C. Ð]l$…VýSâ¶æÐéÆý‡… ¯]l$…_ Ô¶æ°ÐéÆý‡… Ð]lÆý‡MýS$ E¯]l² çÜVýSr$
EÚù~ {VýS™èl 36°C. ÝùÐ]l$ÐéÆý‡… ¯ésìæ EÚù~{VýS™èl, Ô¶æ°ÐéÆý‡… ¯ésìæ EÚù~{VýS™èlÌZ 3/5 Ð]l…™èl$ E…¨. I™ól Ô¶æ°ÐéÆý‡… ¯ésìæ
EÚù~{VýS™èl?
G) 30°C ¼) 50°C íÜ) 100°C yìl) 60°C

9. JMýS ™èlÆý‡VýS†ÌZ° 30 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë çÜVýSr$ Ð]lÄ¶æ$çÜ$ 14 Hâ¶æ$Ï. ÐéÇ™ø ™èlÆý‡VýS† E´ë«§éÅÄ¶æ¬yìl Ð]lÄ¶æ$çÜ$ MýSÍí³™ól çÜVýSr$
15 Hâñæ•Ï…¨. I™ól ™èlÆý‡VýS† E´ë«§éÅÄ¶æ¬yìl Ð]lÄ¶æ$çÜ$ G¯ól²â¶æ$Ï?
G) 45 ¼) 40 íÜ) 44 yìl) 42 

10. 50 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë$ E¯]l² ™èlÆý‡VýS† çÜVýSr$ ºÆý‡$Ð]l# 45 MìSÌZË$. ÐéÇÌZ JMýS Ñ§éÅÇ¦ ™èlÆý‡VýS† ¯]l$…_ Ð]l¨Í ÐðlâêÏyýl$.
Ñ$WÍ¯]l Ñ§éÅÆý‡$¦Ë$ çÜVýSr$ ºÆý‡$Ð]l# 100 {V>Ð]l¬Ë$ ™èlWY…¨. I™ól Ð]l¨Í ÐðlãÏ¯]l Ñ§éÅÇ¦ ºÆý‡$Ð]l#?

G) 44.5 MìSÌZË$ ¼) 49.9 MìSÌZË$ íÜ) 50.9 MìSÌZË$   yìl) 51.9 MìSÌZË$

11. 6 Æ>Ô¶æ$Ë çÜÆ>çÜÇ 16. ÐésìæMìS 2 Æ>Ô¶æ$Ë¯]l$ MýSÍí³™ól çÜVýSr$ 2 ™èlWY…¨. I™ól Mö™èl¢V> ^ólÇa¯]l Æð‡…yýl$ Æ>Ô¶æ$Ë çÜVýSr$ G…™èl?
G) 16  ¼) 12 íÜ) 10    yìl) 8 

12. 50 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë$ E¯]l² ™èlÆý‡VýS†ÌZ 30  Ð]l$…¨ »êË$Æý‡ çÜVýSr$ ºÆý‡$Ð]l# 50 MìSÌZË$. Ñ$WÍ¯]l »êÍMýSË çÜVýSr$ ºÆý‡$Ð]l#
40 MìSÌZË$. I™ól ™èlÆý‡VýS†ÌZ° Ððl¬™èl¢… Ñ§éÅÆý‡$¦Ë EÐ]l$Ãyìl çÜVýSr$ ºÆý‡$Ð]l#?

G) 45 MìSÌZË$ ¼) 46 MìSÌZË$ íÜ) 47.5 MìSÌZË$      yìl) 49 MìSÌZË$
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13. JMýS ™èlÆý‡VýS†ÌZ° 100 Ð]l$…¨ Ñ§éÅÆý‡$¦ËMýS$ Ð]l_a¯]l çÜVýSr$ Ð]l*Æý‡$PË$ 75. A…§ýl$ÌZ 70 Ð]l$…¨ »êË$Æý‡MýS$ Ð]l_a¯]l çÜVýSr$
Ð]l*Æý‡$PË$ 70. I™ól Ñ$WÍ¯]l »êÍMýSËMýS$ Ð]l_a¯]l çÜVýSr$ Ð]l*Æý‡$PË$ G…™èl?

G) 80 ¼) 85 íÜ) 86.66 yìl) 88.88

14. 25 Ð]l$…¨ »êË$Æý‡ çÜVýSr$ G™èl$¢ 1.4 Ò$rÆý‡$Ï. A…§ýl$ÌZ 5 Ð]l$…¨ »êË$Æý‡$ {VýS*ç³# ¯]l$…_ ÐðlãÏ´ù™ól çÜVýSr$ G™èl$¢ 0.15
Ò$rÆý‡$Ï ò³Æý‡$VýS$™èl$…¨. I™ól ÐðlãÏ¯]l 5  Ð]l$…¨ »êË$Æý‡ çÜVýSr$ G…™èl?

G) 0.8 Ò$rÆý‡$Ï ¼) 0.9 Ò$rÆý‡$Ï íÜ) 0.95 Ò$rÆý‡$Ï yìl) 1.05 Ò$rÆý‡$Ï

15. JMýS {MìSMðSsŒæ {MîSyéM>Æý‡$yýl$ ™èl¯]l ç³§ø BrÌZ 100 ç³Æý‡$VýS$Ë$ ^ólÄ¶æ$V> A™èlyìl çÜVýSr$ 3 ç³Æý‡$VýS$Ë$ ò³ÇW…¨. I™ól A™èlyìl
{ç³çÜ$¢™èl çÜVýSr$ G-°² ç³Æý‡$VýS$Ë$?

G) 71 ¼) 67 íÜ) 70 yìl) 73

16. JMýS {MìSMðSsŒæ BrV>yìl çÜVýSr$ »oÍ…VŠæ 12.4 ç³Æý‡$VýS$ËMýS$ JMýS ÑMðSsŒæ. ™èl§ýl$ç³Ç BrÌZ 26 ç³Æý‡$VýS$ËMýS$ 5 ÑMðSr$Ï
ç³yýlVösêtyýl$. ©…™ø  A™èlyìl çÜVýSr$ 0.4 ç³Æý‡$VýS$ËMýS$ ™èlWY…¨. I™ól A™èlyýl$ _Ð]lÇ BrMýS$ Ð]l¬…§ýl$ ç³yýlVösìæt¯]l ÑMðSrÏ
çÜ…QÅ?

G) 15 ¼) 85 íÜ) 90 yìl) 77

17. JMýS Ñ§éÅÇ¦MìS Ð]l_a¯]l Ð]l*Æý‡$PË¯]l$ 63 º§ýl$Ë$V> ´÷Æý‡´ër$¯]l 83V> ¡çÜ$MýS$¯é²Æý‡$. ©…™ø ™èlÆý‡VýS†ÌZ° Ñ§éÅÆý‡$¦Ë$
çÜVýSr$ Ð]l*Æý‡$P 1/2 GMýS$PÐ]lV> ò³ÇW…¨. I™ól ™èlÆý‡VýS†ÌZ° Ñ§éÅÆý‡$¦Ë çÜ…QÅ?

G) 10 ¼) 20 íÜ) 30 yìl) 40

18. JMýS Ð]lçÜ† VýS–çßæ…ÌZ 35 Ð]l$…¨ Ñ§éÅÆý‡$¦Ë$ E¯é²Æý‡$. Hyýl$ Ð]l$…¨ Mö™èl¢ Ñ§éÅÆý‡$¦Ë¯]l$ ^ólÆý‡$aMøÐ]lyýl… Ð]lËÏ ¿Zf¯]l… QÆý‡$a
ÆøkMýS$ ’ 42 ò³ÇW…¨. M>± çÜVýSr$ ¿Zf¯]l… QÆý‡$a JMýS Ð]lÅMìS¢MìS ’ 1 ™èlWY…¨. Ð]l¬…§ýl$V> Ð]lçÜ† VýS–çßæ…ÌZ ¿Zf¯é°MìS
ÆøkMýS$ AÆ‡¬¯]ll QÆý‡$a G…™èl?

G) ’ 360 ¼) ’ 400 íÜ) ’ 420     yìl) ’ 520

fÐéº$Ë$
1) ¼ 2) G 3)¼ 4) íÜ 5) ¼ 6) íÜ 7) G
8) ¼ 9) G 10) ¼ 11) yìl 12) ¼ 13) íÜ 14) G
15) yìl 16) ¼ 17) yìl 18) íÜ
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